‘ASED FORM

1 The equation s = 2y5x can be used to estimate the speed, 5, of a car in miles per

hour, given the length in feet, x, of the tire marks it leaves on the ground. A car

Q/\P

traveling 90 miles per hour came te a sudden stop. According to the equation, how

long would the tire marks be for this car?

A 355 feet 5 _— O’l O
B 380 fee <
CTTAN A

D 430 feet
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2 The heights of two different proJectlies after th e Iaunched are modeled by fx)
and g{x). The function /{x) is defined as fPE1 A2x + 12. The table
contains the values for the quadratic functlon
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ASED FORM

A city map is placed on a coordinate grid. The post office is located at the point
P(5, 35), the library is located at the point £ (15, 10}, and the fire station is

located at the point F{9, 25). What is the ratio of the length of AF to the length of
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oth peanuts and shellfish?
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Events M and N have probabilities such that
P(M) = 0.4, PIN) = 0.28, P(M w N) = 0.55, and P(M ~ N} =

and event A independent? )
4(,28)= 1R
W2 #

A no, because P(M) - PN} = P(M ~ N}

@because B(MY » PINY = P(M ~ N)ﬂ_ﬁ?,

c yes, because P(M) + P(N) = P(M L N)

[B] yes, because P(M) «

P(N) = P(M w N)
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6 Which expression is equivalent to (3x* + 17x’(— lggu (-2x52- 8)r 7 Which graph displays the function f{x)=(2x + 3){x - 2)?

T——

A x*+17x* -7 A ! i T

B x® - 11x? -1

;/ Sx* +17x% + 7
&

TBxT + 17x7 + 6




X+4 = qu X *’ﬂd = 30l
Y= X +a4 5?:a%9+ama
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8 The sum of two numbers is 24. The sum of the squares aof the two numbers is 306,
What is the product of the two numbers?

H ‘).“;23_ ‘,: A 119 X\:Q\ -\\ﬁ:\g
N SaER N EAREaRREY ¢ s xﬂ:quiwﬂ%ﬂ
D R e A B ) X 7 -a‘é’" D 144 -

9 Which equation has exactly one real solution?

AT 4 -12x-9=0 2 W@VQ

B 4x+12x+9=0 (g

C 4x' - B6x -9 =0

[»] ax' + 6x+9 =10

:\_,,i"ﬁ
10 A circular pond is modet ed Dy the equatlon x*+ y? = 225. A bridge over the pond \i\j\

is modeled by a segment of the eguation x - 7y = “75. What are the coordinates )Q
of the points where the v:fg fieets the edge of the pond?

(8, "12) and {"12, ~9) Y N ‘_i 16>
("9, 12} and {12, "9) = ("X B ;

o W
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11  The volume, V, of a certain gas varies inverseig\( with the amount of pressure, P,
placed on it. The volume of this gas is 175 cm™ when 3.2 l<g/<:rn2 of pressure is
- placed on it. What amount of pressure must be placed on 400 cm? of this gas?

2

A 1.31 kg/em?
B 1.40 kg/crr-:z
2.86 kgfcm?

C
D 7.31 kgfem?

12 A company manufactures DVDs.

. The company spent $247,000 tg.
the DVDs.

The company spends an addit

manufacture x total DVDs?

X
ALY T 38k
By -
C y =

_ 1.25x + 247,000
x
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For a carnival game, a jar contains 20 blue marbles and 80 red marbles.

- Children take turns randemly selecting a marble from the jar.
. If a blue marble is chosen, the child wins a prize.

. After each turn, the marble is replaced.

. Casey has drawn six red marbles in a row.

Which statement is true?

A If Casey selects another red marbie, then 2 of her next 3 picks will be blue
marbles because 2 blue marbles are selected fo .8 red marbles
selected.

same as it was on the last turn
other.

rel i:ﬂar b;;rangular pyramid. The plane is paratlel to one of the
.avtvpe of polygeon is formed at the intersection?

A plane intersect:
faces of the pyr#

A square
right triangle

B
c isosceles trapezoid
D

isosceles triangle
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The number of bacteria in a culture can be modeled by the function

N(t) = 288 - 30t + 180, where t is the temperature, in degrees Celsius, the
culture is being kept. A scientist wants to have fewer than 200 bacteria in a
culture in order to test a medicine effectively. What is the approximate domain of
temperatures that will keep the number of bacteria under 2007

A "1.01°C < £ < 2.03°C
B T0.90°C < t < 1.97°C
C “0.86°C < t < 1.93°C
D 0.77°C < £ < 1.85°C

16  Which function is graphed below?
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» 2
a reflection over the line y = 1
a rotation 90° counterclockwise about the origin

a rotation 270° counterclockwise about the origin

18

19

Which statement must be true about the triangle below?

P

S
PQ + QS = PR+ RT
APQR = APST
ST=2.QR

£5 = AT

@)

The graph of f{x) = |I e i’?slated S units up and 2 units to the right. Which

function describes t

o n w

g(x) =3
o =y

gix) = x ‘%é 1

g(x) = x* - 10x + 27

g(x) = x* + 10x + 23

roduced by the translation?
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20 Aninvestment has a balance of $2,000 and earns 3.2% interest each year. If $150
is added at the end of each year by the account holder and no money is withdrawn
from the investment, which represents a function that can be used to calculate the
investment balance for successive years?

A B,=0.0328,-, + 2,000, B, = 150
B Ba=0,0328,-1 + 150, Bo = 2,000
C B,=1.0328,-, + 2,000, 8B, = 150
D

B, = 1.0328,-4 + 150, B, = 2,000

21

23

196 cm alﬂza
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. As the measure of angle f-:varies from a value of x to a value of v,
sin{F) increases by 0.2,

! Angles F and G are complementary angles,

How does cos(G) change as F varies from x to y?
A It increases by a greater amount.

It increases by the same amount.

B
C It increases by a lesser amount.
D

It does not change.

A 7m+ ¢
B m-t
C m+ 2 ,
D m-2 ol e ‘k'w}cb\r—{ig
B opt Ao

e modeled by the functidn V() = 13,000(0.82), where

The value, V, of 2 ca |
‘since the car was purchased. To the nearest tenth of a

tis the number of-yea

“percent, what is thg,manthly rate of depreciation?

A 1.5%
B 1.6%
C 9.2%
D 18.0%

Clepreaaaintn »
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25 Which expression is equivalent to [I'GXEX:J > The questions you read next will require you to answer in writing.
o ?
x 8y® .
¥ i 1. Write your answers on separate paper.
_p(- R .—% T
24x2y2 —_— & 2, Be sure to write your name on each page.

1 In the figure below, a pole has two wires attached to it, one on each side, forming
twao right triangles.

&

, X wire 1

41°

polezs” @A o £t
hgibase of the pole does Wire 2 attach to the ground?;?a f “f

17 ~ "4%;‘-?"‘{_

34

O 2 : 2
39 + 39L =Wl ge o dl =50

2 The amount of time it takes to build a road varies inversely with the number of
workers building the road. Suppose it takes 50 workers 8 months to build the
road.

— . What s the constant of variation? (XD
x - Write an equation that could be used to determine how long it would

take n workers to build the road. (Be sure to define the variables,)
. How much faster would 60 workers build the road than 50 workers?

A Wil fastty Hhan a Mok




